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Roll No. 10 e flitedd In b the randidae. {For all sessions) Paper Code | 6 | 1 3

Mathematics (Objective Type)
Time: 30 Minutes Marks: 20

NOTE: Write answars to the questions on objective answer sheet provided. Four po
question are given.Which answer you consider correct, fill the correspoending circle 4.B,C or D given in front of each

question with Marker or pan ink on the answer sheet provided.

P o
1-1. in an ablique triangle , if @ =200 ; b =120and Included angla ¥ = 150 . then its area will be equal to:

(A) 8000 (B) 5000 {C) 2000 {D) 12000
2 it"R" is the circumyradius, then ils value is:
ac ab abe
A A ®) 44 0) Ao
3. The value of sin] cos -?3 s equal to:
-1 1
{A) 1 ®|) -1 (> IY
4. The solution gf cosecd = 2in interval [0,27] is
7 I n 5x Sr Lo 4
w g ® 5% 3 © 3%
'51if 2= cosd +isinf,then ]z| is equal to:
it {A) U il (8] 1 (D) 3_'_
6. For any two subsats A and B of set |, then (4U B)' is equal to;
(A) AUB (B) ANE ) A4 ng'
7. If "A" is g square matrix and (j)’ = A then "A" is called:
(A} Skew Symmatric - (B) Symdhetric {C} Skew Hermitian ] Hermitian
4 x 3
A=|1 !
8 if is a singular matrix, then 'x' is equal to:
203 1
(A) 3 (B) 4 ; ©) 6 D) 7

9. 4 and O are roots of ax’ +bx+c=0, then @7 is equaito;

® Y, © ¢ oY




R Y/
10, 1f" w” ts & cube root of unity, then (5 +w— Wz)[' - W+t WI) will be equal to:
(A} 2 @ 4 c) 2 D) 1

3 l A
. "(.r—l)(x+2_)-;-:i+xf 2 . then “A" is equal to:

(A) -1 ' (B8) 3 © 2
12. The n™ root of product of n Gei:metric Means betwsen a and b is equal to:
)‘V; (c} avab

@ (ab (B) a'b"

13. ifinan AP, 4 =21-5  then 4 will be eq

(A 2n+1 (Bl. 2n-1 0) n-1
n! '
14, m is equal to: y
n
@ @ 7 o

13. Number of signals given by 5 flags of differant colours using ¥ flags at a time equals,

(A) 30 (B) 40 (¢ (D) 60 :
16. Sum of aven co-efficient in the expansion of (1 +x)" eq
: {A} 2l|-l| -3 {B] 21!—!. (Dj 2I-Jr

1
17. Third term in the expansion of (1-2x)% is equal t¢f
_9x? 9x*
T/ ® %/,
18. The area of a sector of circular region of ragius
1

2 1 1

D) ‘_4‘”%

and angle g is equal 1o

19. ||rﬁcos: f+28in*@=5 . then tan’ @ will be
3 ' 1 2
a) 3 ®) 3 ©3 © 3
.
20. Period of SN g is egual to.
' : 27
) t0r (8) 57 © 27 © 5
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Section -I

2, Write short answers of any eight parts from the following. <7 2x8=18

Find the modulus of complex number 3+ 4i il. Simplify by justifyi by writing properties.

) 4 5
iii. Factorize the expression 9,47 | 1647 iv. Define absurgiy and giva ona example,
1 21
4x +3x, =5 =
v. Solve the systsm of linear squatjons. Yp—x :? vi. Find the/value of  if |2 X 2|=0
" b 36 x

vil. Defina Row Rank of a matrix.

viii. Sojve the equation 2 _ 10 =3,

it A={1,2,3,4},B={3,4, 5.6,7,8}.0=1{5,6,7,9,10 verify distributivity of union over intersection.

9).(3:11)}

x. Find the inverse of the relation {(1,3).(2.5\(3,7),

xi. Use remainder theorem to find the remainder w .n x* =~ x? +5x +4 ia divided by x=2

xii. Find the roots of the equation 16x? +8x +1=0 sing quadratic formula.

3. Write short anawers of any eight parts fromy'the folpwing. ; 2x8=16
i. Rasolve x,'_l into partial fraction. i, Fing §™ term of Geometric prograssion G.F 2,6,12, ...

Define Circutar permutation.

vl. If 5,8 are two Arthmatic Means (A.M)
| 1 1
k'2k+1 4k -] 1

viii. How many words can be formad fro

vii, If the numbers

the letters of PLAN" using all latters when no lettehs to be repeated?

non
ix, It “5" "4 » where € stands for compbination then find value of 7.

x. Varify the inequality n > 2" — ] for ntegral values of n=4,5

l-x 3
xl. It X |s so amall that ite square and gher power cab be neglected, show that 7;=— =1~ EI 3
. _x i ;

3 2ab
xii. Prove thal Hormonic Mean (H.M) between two numbers "a8" and "b" is T ; i
: a : i
4. Write short answers of any nine parts from the following. ' 2x9w18 |
: : - ' _ 2tand i 0 '
I. Prova the fundamentsi identity €08° 0+8in" 0 =1 i verify the resu 120 26 = I—mnigfrd=30", :
T A ¢ e e s . it s s b e 5 a0 et et e, i 2 afhdia - -...r.,-,..—.._,..,u.“:




Rup -

cos!I° +sinlt’

+——— = tan 56°
cosl!” -uinl! :

iil. Show that Iv.

. Find the period of c0s€c{10x)

118~ a-1
ot? 6‘
. Expras the following dference as the product of trignometric functions €0s 78—

=2cos’8-1

vill. Show lha!

l

L |

i, Find the vaiua of ms(ﬂlﬂ —*J_
2 l+

i,

Find the solutions of the equation
Find the values of 7 satisfying the

xil,

tﬂ—T in the interval [0 2!:]

i, tion 31an’ @+ 23 tand +1 =

(b) Resolve into partial fraction 1

Through what angle will it turn in 10 sec?

.l.'

2y
5

o ity=2+13
yuy 5T

2

-2

~15 . -7
(b itfana = _E and Sin §= '2_5 and neitifer the teminal side of the angle of measure < nor

of B isin Iv quadrant, Find 510 (& + B ang cos(a + B)

1 1 .
9. (a) One side of a triangular garden is 30m. If two comer angle are 22° 2 and112° 5 . find the cost of

pianting the grass at the rate of Rs.5 per square metar.

_|8 i

9 4

+ tan -1an

43
(b) Prove that ' '
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Prova that €08330°5in 600° + cos120°sin150" = —1

LS

B r
vl. Show that’ = 4Rsm*2‘3'“55'“ 5 with usual notation.




